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QUESTION 1

An architect wants the ability to associate a blueprint with the default machine states for the use of extensibility tasks.
Which four default machine states could be associated with a blueprint to call out extensibility tasks? (Choose four.)

A. Initialize

B. RegisterMachine

C. MachineProvisioned
D. Expired

E. UnprovisionMachine
F. Disposing

G. Deleting

Correct Answer: BDEF

Reference: http://chansblog.com/optional-vra-part-10-extensibility-integration-of-vro-with-vra/

QUESTION 2

An architect is tasked with designing a backup strategy for vRealize Orchestrator as part of an upcoming production
rollout of a Cloud Management Platform. Which are two valid backup design recommendations? (Choose two.)

A. If vRealize Orchestration is embedded within the vRealize Automation appliance, perform its backup along with
Manager Services for vRealize Automation.

B. Perform backup of vRealize Orchestrator virtual machines in the order of the startup priority.

C. If vRealize Orchestrator is a standalone component, perform its backup before backing up vRealize Automation
components in no particular order.

D. Perform file-level backup of the Orchestrator database only after a successful full virtual machine backup.
Correct Answer: CD

Reference: https://pubs.vmware.com/vrealize-suite-60/index.jsp?topic=%2Fcom.vmware.vrsuite6.0.backuprestore.doc%
2FGUID-87A2DCE2-D8DB-4077-8FC2-8EAFB9AB46AS5.html

QUESTION 3

An architect has been tasked with creating a backup design for?a vRealize Automation deployment. As part of the
engagement there is a requirement to document justification to perform a backup.

What are two reasons to perform a full backup of vRealize Automation deployment components? (Choose two.)

A. To prepare for scaling of any of the system components.
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B. To prepare for patching of any of the system components.
C. To prepare for replacing certificates.
D. To prepare for upgrades of any of the system components.

Correct Answer: CD

QUESTION 4
The development team has decided to move its 12-node application into its vRealize Automation environment.

There are several teams of developers all working on the same application, so the traffic needs to be separated from the
other teams.

Since the application has no dependencies outside of itself, what could be done to address the needs of this scenario?
A. Create a separate logical network and add it to the development reservation.

B. Create a new NSX routed network using a /28 netmask and add it to the development reservation.

C. Create an NSX One-To-One NAT network and add it to the development reservation.

D. Create an NSX One-To-Many NAT network and enable the DHCP feature and add it to the development reservation.

Correct Answer: D

QUESTION 5

A cloud architect is trying to determine the operational impacts of adding another business group (DevOps) to the
company\\'s existing vRealize Automation (VRA) deployment. Existing users have reported that response times for login
into their

VRA infrastructure has spiked recently and it is taking longer than usual. The Active Directory user base, after the
addition of DevOps users, could increase to well over 100,000 users and 50 groups.

What is the VMware-recommended design to address this scenario?

A. Add an additional connector to the existing Active Directory.

B. Add an additional laaS proxy agent.

C. Add an additional laaS DEM server.

D. Change the default access policy when adding the additional user base.

E. Increase the VRA virtual appliance memory allocation on each machine as per sizing guidelines.

Correct Answer: E
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